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O &R RCiE  Hh b 3PE, MR 2 fE FEPRMEFE 2, 113m
R, KERBRE, SEME, PREEE ERE
VAN 22m/min 14m ¢ 400mm 75kW  fedibRbAg  EEH: A 2
28m/min 14m ¢ 450mm 100kW  #tfhsli  E@hk H 5 2
e L IE5. 6m X 5. 6m X £ 3. 2m 1
5 % A&  165m/min 3300V 230kW  ZERS-K 7 ny- 4
@ FAo7H [RCE M E 1P, M 3P FEPRMEFE 2, 280m
1BKAR T 22m/min 15.5m ¢ 400mm 9OKW e A 4h5 1
e L ME5. 6m X 5. 6m X ZES3. 2m 1
@ I BRI | B U v, RCH¥  f510.0m X £27. 0om X £ 3. 0m 3
2M 1 SHATIREER
W RO RCi&E 1H§7. 1m X E56. 0m X E E5. 0m 4
EFERIINE B R 1A
U, RCi&E 1H§9.6m X E36.0m XEX3.8m 3
21 TR ER
@ X ZAKRLERRR e gL RCE fH4. Im X (AR 21.26m+ FFEE27. 55m) 10
XIEE2.8m AT
W RO RCi&E 1H§8.5m X £E36. Im X{EX9. 0m 5
EEEE AU INFRARF A5 Br Al L B 2275
(i7" — hoH  HHELI0E
HEhR 7 U —25f PRERIEA  7'5H)
BT v RC# #§4. Im X (EFfR21. Im+ FHE3L. 0m) 10
XIEE3. 4m AT
B %1 i5RnEEs | B 22 KR A mAs  18.5m ldkg,/m -+ hr =a1R 4
BREAER 7 —#l 1 m/min #FE5m 200V 11kW {51k 2
®© orbvenEb | T EMGENERARE  A@EE 8ol AUERE  135ke-DS,/ i+ h r 2
BREAE R 7 —dlia U 1256 X 13~41m /F  £F220m 11kW 3
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144 B o - A - A £
M\ ABRE |75 U e RC#E HMHEMSRA (F0) 2
££10m X 5 &3, 2m
BB ER T —idiff Im/min 5.0m  11kW 2
INETR ERR 7 B RAGRE RCH fE5. 0m X F12. 8mXEE3. Tm 1
BIRMHR 7 —idh 50m/h  45.0m  15kW 2
ORREE=2i T Tl RCiE 1H2.0m X £30. 0m X X3, 2m X 6 KK 1
WHEEAR T 420ml /minX 2keg “cii  24W 3
EE i AR e H AKX —1E > 1500KVA 6600V 131A 2
WFEBY 7 FE 16KL 1
@ EE ERE SliAE . & B 1
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NI )
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& ] | ; =
- 11 A I St
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2. DT KDL

I B mwmsres s — B b 8 — | ST AR A 8 —
. S =T H T A T R e -
bz B ST okomire 2108 % ARG CATHT 7
DT N7~ TR #710.7ha # 63.7ha 8.76ha
T ok P B A st it it st DS 5
BRI T B | BRI e s [N
GERAININTE G TR SR 2R | BERANRNINE RS R SRE DR | mon rrprmome i
w w3 | BB T Y pemi O | et | (R
EEFIRIN S B 22 e | AN S B L 2 %Eﬁig*y&%
A GERSEELEL) | +Rb A ML (R R ALE) iz
WUER K & | 4 1K 5T #67500 i, H % 487400 i, H 163,000 m H 4700 i/ H
(Hig oK) | H254E FE R 52500 m H 268,500 m, H 126,000 m  H —
WU NPT R N T % 3,429ha # 284299ha 2,069ha %2
i & | H254E K 2,179.1ha %1 17,339.9ha *1 2,044ha X2
JURE g g R Ny T £ 122,400 A % 795,400 A 206,000 A X2
A 1| H254F FE oK 114,227 \ %1 700,383 A 1 206,700 A 2
(IO T AGESE | S13E5¢ UHEAKRC))
ST LT L 8 — J O P e B (o8 — (4. H2A AE R B,
%0 MU KA. LR S A1 Id R ALFE K | & £ T o,
MIBR & LIRS
wa | meggous | P G EEEERAI] 2 ERELEAN L
i 7] b/ VS~ AL 114,788 A 110,278 A W g b2y —
Jerads | BB~ 106423 A\ 104850 A JeHET A A s 5 —
xoh SRR AT 4
AR - TR HIX 5442 A 4857 A 2 HASR SRS
(1 R) tey—
TR L LA 108,672 A 106,301 A S L B L S —
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3. K & E
(1) EREHFERR
(AL : m)
T (HIPE) 2336 F/KGE | T R 2838 FAKE | JHEETT (R 233t T /AGE | REeT (HIRE T s) 238 FAGE KE T E
gop
AR i 2®OF AR i 2®OF AR 2®OEk AR 2 FF AR JE 2 FF
SERk 18| 5, 500. 01495, 200. 0] 1, 200. 0[299, 900. 0 0.0| 16,800.0 7,070. 0| 283,670.0| 13,770.0]1, 095, 570. 0
19| 3,700.0[498,900.0| 2,700.0[302, 600.0 400. 0| 17,200.0 11,030.0[ 294, 700.0| 17,830.0]1, 113, 400. 0
20| 9,170.0]508, 070. 0 1, 430.0[304, 030.0 0.0| 17,200.0 4,170.0| 298,870.0| 14, 770.0[1, 128, 170.0
21| 9,330.0(517,400. 0| 3,570.0|307, 600. 0 0.0| 17,200.0 8,230. 0| 307, 100.0| 21,130.0[1, 149, 300. 0
TEEHBITICHESEIEEEREICKYVREL o
(BAZ ¢ km)
AR BT | GHIE) 23t FAGE | ot (o) A3t FKGE | K (BER) At FAKHE | At GUIRG ) At Tkl KB TR
k22 574.9 354. 5 22.6 407. 2 1,359.1
23 584. 6 355.5 22.7 409. 9 1,372.7
24 589. 4 356. 1 22.7 424. 2 1,392. 4
25 598. 3 357.9 22.7 426. 3 1,405. 2
Q) EBHEFEERKR
(BAiZ : ha)
FCHETIT G PE) 28 35 F 7K | T (o) a3k R oKGH | el (FEFR) A3t R /K | e GWip i) 2k FksE Ko T OE
g
A RET A RET AR R REt HLAEJE REt BT REt
SRk 21 23.3| 2,131.7 2.1] 1,411.9 0.0 91.9 19.2] 1,634.2 44. 6 5, 269. 7
22 11.2| 2,142.9 3.7 1,415.6 0.1 92 17.3| 1,651.5 32.3 5,302.0
23 27.3| 2,170.2 3| 1,418.6 0.1 92.1 6| 1,657.5 36. 4 5,338.4
24 8.9 2,179.1 1.0] 1,419.6 0.0 92.1 49.2| 1,706.7 59. 1 5,397.5
25 28. 7| 2,207.8 2.2] 1,421.8 0.0 92.1 4.3 1,711.0 35.2 5,432.7
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4 . PR TG (#1444 7)

B K | R T Y A | A R o fﬂgﬁgg; jf%‘;% s
i {FF ST T REHERT 516 0.70| ¢ 100 == X 2 & | HI3
T REHE (ST T REHERT 63 0.31|¢ 65 xX2H| Hl4
TREHESS2 {EF ST T REHERT 80 0.63| ¢ 100 X 2 & | HIb5
Elavass:ic (FEANLALTE H T 7 0.09|¢ 65= X2 H| HI3
AR (FARERVAGSREA ] 56 0.16|¢ 65= X2 & | HI5
A2 P LA T 264 0.04|¢ 80w X2 H| Hl4
FE A1 {7 L P R T 120 0.03[ ¢ 80mm X2 & H9
P A2 (P L P R T 120 0.01]¢ 80w X2 & H9
A3 {5 NP FEAT 33 0.16/¢ 80=» X2 & | HIb5
(e B 1R 33 0.07|¢ 65= X2 H| HI2
V)52 LR [T 10 0.01]¢ 65= X2 & | HI4
ZH LI 5 T 83 0.02| ¢ 80mm X2 H| HI2
=1 HE¥H T H 110 2.16| ¢ 150 == X 2 & H 4
P2 B AT H 10 0.01|¢ 65== X2 & | HI2
A =2H—TH 6 0.20[ ¢ 65= X2 & H 4
KOH T |EEEL AEH T H 91 0.72| ¢ 100 = X 2 & H5
(vE)  |REE2 AREH T H 90 0.24|¢ 65w X2 H H 6
NETFKGE [BEHES3 AEH—TH 12 0.27| ¢ 80w X 2 & H 6
EXH 4 EXH—TH 37 0.46|¢ 80== X 2 & | H21
A1 MAETH 60 0.10|¢ 80== X 2 & | HI1
ARz 2 MANT A 20 0.16|¢ 65=- x 2 & | HI3
IARZE3 AN T H 17 0.25|¢ 80== X2 & | HI2
AL MA—TH 25 0.10|¢ 65== X2 & | H20
A2 MA—TH 55 0.06|¢ 65== X2 &H| H22
KA LIN=TH 37 0.04| ¢ 65 = X 2 & HS8
N1 &N—TH 7 0.28|¢ 65= X2 & | HIT
TH TH—TH 58 0.14| ¢ 80 = X 2 & H2
HEZE MR T B 224 1.02[ ¢ 100 == X 2 & H 2
HEZE 2 HEZEDN T A 31 0.07|¢ 65== X2 H | H2l
HEERH HEEST B 40 0.04|¢ 65== X2 & | H21
PRAING WAL TH 3 0.04| ¢ 65== X2 % H3
A& AT H 6 0.08| ¢ 65== X2 % H9
A1 THRAMNTH 101 0.90| ¢ 100 == X 2 %5 H2
A2 THRANTH 240 3.60| ¢ 150 == X 3 & S60
A3 THRA—TH 20 0.47| ¢ 100 == X 2 15 H5
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S i A ()

FH K Gt

AL Wk L 7 G 40 TR | AR o TR DAL E (s mEEa) | (53 R T hagk | ompR s
/A FBAP T H 5 0.06|¢ 65== X2 & | H23
D FTE2 WARZTH 25 0.19|¢ 65= X2 & | H23
JE I JEIRE — T H 528 4.98[ ¢ 150 X3 H| HI1
FE IR 552 FEIRy =T B 3 0.05|¢ 65m X2 & H8
LB B WEE—TH 4 0.01|¢ 65== X2 % H11
S RAEZTH 4 0.03|¢ 65== X2 % H13
INEFER /71046 2 0.18| ¢ 50= X 2 & H7
/N2 /7306 10 0.30|¢ 80m== X2 %5 H9
@51 @27 4 0.30| ¢ 80 = X 2 FH H5
@ 552 32 4 0.15|¢ 65=m X 2 & H10
ATEHL 34 15 44 10 0.30|¢ 80m== X2 % H9
PR ER 1 Fiifi e #2403 3 0.30[¢ 80w X2 & | HI2
e 1 i s yi426 3 0.16| ¢ 65=- X2 /| HI4
SR BHH569 2 0.12| ¢ 50== X 2 & | HI2
SR 2 HH516 3 0.25|¢ 65== X2 H| HI2
RIRH3 ZEJF903 4 0.45¢ 80 = X 2 5 H12
P 25 1 FAAREE 71 3 0.16| ¢ 65== X 2 & | HI3
JEMEE 1 JURTT951 4 0.30| ¢ 80 = X 2 FH H10
AR SR 2 JURTF1539 4 0.30[ ¢ 80 = X 2 FH H10

NS S Bl 1AV T JRT1445 3 0.30| ¢ 80=m X2 & | HIO
SHIIE | JNEF122 3 0.43|¢ 80w X2 H |  HI2

7N SFILIEE2 JURF1989 4 0.16|¢ 80mm X 2| HI6
SHIIE % R 2362 3 0.16|¢ 65 X2 & | HIT
KRAEH1 AKF1355 5 0.36|¢ 80== X2 & | HI3
el 5116 3 0.37|¢ 80mm X2 % H 8
FALL R 647 5 0.16|¢ 80w X2 & | HII
EEEA=Y MR 5 0.16|¢ 80w X2 H | HI2
LR JErEE 190 3 0.30| ¢ 80m=m X2 H| HI2
b REE2 | d=A=2 0! 3 0.16] ¢ 65= X2 & | HI3
==Y % JEHE 829 4 0.43|¢ 80m»m X2 & | HI3
Lt R 54 B E 920 3 0.16| ¢ 65=- X2 & | HI3
TIT 2% F/MA1095 6 0.04| ¢ 100 =n X 2 15 H5
AN 2 b/ 1024 3 0.30| ¢ 80 = X 2 FH H12
b/ M2 b/ r1017 7 0.64| ¢ 80 = X 2 & H14
b/ MRS b/ 2384 5 1.35[ ¢ 100 = X 2 & H12
b/ A EE4 b/ 2660 4 0.36|¢ 80mm X2 & | HI3
R /N FE/MA 1387 970 2.10{ ¢ 150 = X 2 & | HI6
/MRS 2 /MR 743 5 0.04|¢ 65 x2H| H21
ik A0k 22 0.02| ¢ 65mm X2 & H19
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S i A ()

FH K Gt

L BRI HRREAR T AR BR | AR T Sk DA (s mEEa) | (53 R T gk | sempaaEp
RS B _TH 510 1.80| ¢ 150 == X 2 & H 3
Wi EoEW/ANIES 105 0.44|¢ 65=m X 2 & | HI2
L HACE=TH 763 1.75| ¢ 150 = X 2 & | HI2
Bl BlE = 1,810 24.40| ¢ 300 == X 3 & S49
e T REEDY T B 10 0.24| ¢ 100 == X 2 & S46
= = JFSFAT 10 0.10|¢ 65== X2 % S52
e HH B e HH BH AT 34 0.02|¢p 65 X2 H H12
(AN IA—TH 10 0.01|¢ 50m=m X2 % S56
FoNR A 16 0.04|¢p 65mm X2 A H 2
TR 23 275 1 {23 8 0.02|¢ 65=m X2 & H1
IS 26 2 33 B 5 0.16|¢ 65= X2 & H 4
KER HER 48 0.30|¢ 80m== X2 % H 2
Ko Tl | R HE— T H 425 16.50( ¢ 250 =n X 4 & S50
(k) |MEREE2 EE T H 100 0.97[ ¢ 100 == X 2 & S58
NETFKGE (A HA 80 2.27| ¢ 150 mm X 2 15 S58
HAH2 AlsF—TH 3 0.06|¢ 65= X2 & | HI5
A1 EE T H 10 0.05|¢ 50mm X2 %5 H3
E551 Eso—TH 5 0.05|¢ 65== X2 & H6
=552 Eso—TH 5 0.04| ¢ 65== X2 H H6
=453 En—=TH 5 0.03|¢ 65=m X2 % H21
L SEHEmT 14 0.05|¢ 65== X2 & H8
T w5 —TH 9 0.02| ¢ 65=m X2 FH H8
W2 #ER—TH 32 0.10[ ¢ 65== X 2 & H9
)l PI—TH 4 0.16|¢ 65= X2 & | HI4
<31 (L A 50 0.17)|¢ 80m=m X 2 %5 H16
(LR 2 Ly A 56 0.17)¢ 80mm X 2 %5 H16
NS AE—TH 35 0.05¢ 65w X2 & | T2
KOE T R KT 40 0.30|¢ 80w x 24| I8
(HE)2)
N FKGE (B FERZTH 18 0.16|¢ 65= x2 & | HIb5
KiL KIL=TH 105 5.15| ¢ 150 = X 4 5 S61
KILH2 KIL-TH 5 0.24|¢ 80mm X2 % H 7
Ko T [RILEES KittTH 19 0.34|¢ 80m= X2 & | HIL
(TSARE ) | RIL 54 RITHT H 6 0.06| ¢ 65== X2 H| HI2
NETFAKGE [ RILEES KITATH 19 0.31| ¢ 50mm X 2 & H15
JE L KILH T H 6 0.03]¢ 50mm X2 & H9
JEILEE2 KILHTH 31 0.14| ¢ 65 X 2 & H19
JEILEE3 KITATH 35 0.04| ¢ 65 = X 2 & 23
I H WHH—TH 10 0.20|¢ 65 X2 % H2
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e BRI R A TR AR T i DAL E %ﬁjgfﬁ(g Tfﬁz\;ﬁ R T hagk | vompR s
AL AILSE=TH 600 14.13[ ¢ 200 =n X 4 & H1
A2 WHEAET B 75 0.67| ¢ 100 == X 2 5 H 4
A3 A —TH 50 1.21 ¢ 100 == X 2 & H5
IR FRHE=TH 310 2.28| ¢ 150 = X 2 15 H 7
T-HT THTZTH 48 0.21|¢ 80m=m X2 % H8
[it] >~ FAST H 14 0.17|¢ 80=m X 2 & | HIl
KA KAFNRTH 2,173 5.69 ¢ 200 = X 2 B H12
H 51 BH=TH 28 0.70| ¢ 100 == X 2 15 H1
H E52 B=TH 550 20.00| ¢ 250 == X 2 & H 6
H 53 B—TH 6 0.14|¢ 65== X2 % H11
— Bl —HII=TH 2 0.03[ ¢ 50mm X2 & H9
BEEEE 1 BE—TH 43 0.16|¢ 65= X2 & | HI4
Koo Tl |BEERESE2 BIEERT B 53 0.06|¢ 65== X2 & | HI6
(TR ) | B3 BE=TH 5 0.03|¢ 65= X2 H| H20
N AKGE KA HHET KReEHF—TH 22 0.27|¢ 65= X2 & | HI4
KATE KAE_TH 112 0.54|¢ 65=m X2 % H14
1 W T H 5 0.05|¢ 65== X2 H| HIb5
2 T H 5 0.10|¢ 65= X2 & | HI5
W R P —TH 7 0.69 ¢ 100 = X 2 & H16
K+ XKF+—TH 63 0.28|¢ 80mm X2 %5 16
Hh By i T H 192 0.04|¢ 65= X2 & | HIS
P2 B =T H 51 0.06|¢ 65=- X2 H| H22
#* H—TH 10 0.02| ¢ 80m== X2 H| HIS
P AWSFNTH 32 0.04| ¢ 65=m X 2 & H19
SN2 AWSFUTH 41 0.02|¢p 65=m X2 & H20
H BLTH 5 0.02| ¢ 65= X2 H| H20
PR PIEZTH 56 0.03| ¢ 65=m X2 FH H20
N AISENT H 5 0.04|¢ 65m=m X2 15 H21
K RK&ELTH 5 0.02|¢ 65m=m X2 & H21
R 6 T A 5 0.03]¢ 65= X2 H| H23
vl Kit—TH 67 0.11|¢ 65m=m X2 % 23
GIEES Bk =T H 31 0.04| ¢ 65mm X2 % H25
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5. FRAKERR

(HLA7 @ ha + m) ST 264E3 H 31 H HE
e AN | RAFTEH [BEUKRAEA B| WA TN | HE KR LR |
=N i v g H22. 3. 31 H254F i ~ 36.0 430
il i e 75 H22. 3. 31 H224F i ~ 22.3 706 256
FELRRD B |G 3L 7E H T H18.3.30 HIS~H234E/E 50. 2 2,962 2,962
Z 5T HEF T Hfth H14.3.29| HI5~I184EJE 17.5 536 536
R ARELH T B A H14.3.29| HI6~194% 1.4 239 239
Lol EXEH T H At H13.3.23| H14~224F )% 34.0 1,513 1,513
511 AL DU T H i H14.3.29| HI9~204E % 21.8 254 254
)l AL DU T H i H10.9. 7 H104FJE ~ 51.6 1,324 629
[ BT H i H14.3.29]  H2I4EfE~ 18.5 867 77
|8 HEZEST B H13.3.23| HI3~154% 17.9 712 712
AL \HEZEPEKEE |HEEERT B A 126. 3. 19 11.3 100
BO(W YK | T H H26. 3. 19 14.9 230
X ()] B =T At H18.3.31| HI19~H244 % 11.0 512 512
PN THRATR T Hih H26. 3. 19 14.7 592
B 55| THAR=T Al HI. 6. 25| H 9~124FfE 5.6 469 469
HHEF) THA =T HAh H26. 3. 19 11.3 215
ogasl| FHRA =T Hith H13.3.23| HI3~144- 6.1 73 73
)1 FHA—T Bt H14.3.29| HI5~184-% 9.3 374 374
K B =T Bt H10.9.7| HI0O~134-F% 10.8 274 274
SEAE 1] oYiRvalig i H26. 3. 19 25.6 328
BIEAMI BIDY T E At H13.3.23 H184F i~ 32.6 864 844
gl WA IR H13.3.23| HI3~184-% 22.2 807 807
RAEN TR DIt H13.3.23| HI4~194EJ%E 22.5 909 909
AE))116%5 TR L) H13.3.23| H19~214-& 4.9 376 376
K R L] B3 It H13.3.23]  HIGHEHE~ 11.8 430 380
v i W73 It H26. 3. 19 7.0 745
i A BE 7S A H14. 3. 29 42.9 1,214
3 TERHEPEKE |[KEN T H H18. 3. 31 3.4 205
X BH15 - 25 lckokE T Hi H21.3.30| S54~H44F 83.8 551 551
FF )| (2B OEE =T B H21.3.30 1 380
BEHI T E H20.3.31| H22~254-f% .6 180 180
=W E4o—TH H14.3.29| HI4~174-F% 12.3 383 383
M1 5 JE R At H12.3.3 50. 6
el KA T H i H13.3.23| HI0~164-FE 108. 4 864 864
S ) 1| KETT A H13.3.23| HI6~204F% 53. 4 1,025 1,025
W [EER RIT=T Hith H13. 3. 23 15. 4 545
o [HREHkEE | BETT Ei H26. 3. 19 12.2 184
jljg %E)EH | AEE T Hi H17.3.31] HI7T~H256E 111 886 886
f@ EE2 K KITT T HA H17.3.31| HI8~194FfE 11.9 487 487
o |miE)sE T T B H17.3.31 19.0 195
N e T T 254
% L1 Rt T Hith H13.3.23 H1241J ~ 9.0 1,439 905
WEHI 2 ) — 2 | H21.3.30[  H254EfE~ 36.3 2, 000
[R7RBTEHD) (X, IR OBTER S L < 13 FIBTE -0 267
MEET A )
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